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Candidates are required to give your answer to own words and sentences.
All questions contain equal marks. Answer any five out of ten questions.
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[4+4+8]

Define an Even Number and an Odd Number with examples. Find the average

of first Five Even Numbers between zero and twenty.

W AT Ud fuH AT Bl SR & A1 yRWINA @¥ | 0 (zero) 3R 20 &
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Find L.C.M and H.C.F of 30, 72 and 432 using the Prime Factorisation method.

TS T[UrRds fafd gRT 30, 70 U 432 BT A UG HHA. T X |

Prove that V3 is an Ir-rational Number.

g o &5 V3 Ua suRay T=m 2|

If P(x) = %x3 — 4x? + 3, Then find the value of

(i) P(-2) PG G)PE)  (v)PO)
Ife P(x)=§x3—4x2+3 g ar

(i) P(-2) {HPG)  GHPE) (V) PO)
BT AF ST PN |

Factorize (Jorde fHapred)

(i) 9x2 —224x+8 (i) a’+b’+a+b

(iii) 2x? — 3y? (iv) x2 — y?

Divide (2x* — 3x3 — 5x% + 9x —3) by (x? —3)
(2x* —3x3 = 5x2+9x —3) B (x> —3)H 9T < |

Solve for x and y

(xR y B fIT TRl )

(1) 2x —3y =13
7x—2y =20

(i) 2x+5y—-17=0
S5x+3y—14=0

[4+8+4]

[8+8]
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Solve for x and y

(x 3R y & foIT g1 W)

[8+8]

Find the nature of the roots of the quadratic equation 2x% — 6x + 3 = 0 and
find these roots.

feama AHIeHRor 2x2 — 6x +3 =0 & Hall Bl YHfT ST X UG 39 qo oa
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The Perimeter of a rectangular field is 82 m. and its area is 400 m”. Find the
breadth of the rectangle. (Use the quadratic equation)

fpefl ST R A @1 uRAM 82 Wex Ud @ &Fhal 400 I HER B |
AMIATHR HS BT AreTs o & | (feeard aHiaxer &1 W o)

[4+4+8]
Prove that (Rig &)
1+ cosO
—— = tan0b + cosO
1 — cosO
3 . 3sin® — L sec?0
If tan® = =, then Find the value of ——F——
4 Sec20 — ECOSZQ
3 3sin6—%Sec26 .
IfE tand = " ar Seco L corts BT A ST BN |
[6+6+4]

The Perimeter of the Isosceles Triangle is 50 cm. and its equal sides are 15 cm.
long. Find the area of this triangle.

el Tafgarg B &1 uReArg 50 | € A1 IHD! FAM oIl & T
15 WAL 81 A1 39 B &1 a9%e 91d N |

The diameter of the Roller is 70 cm. and its length is 110 cm. To the smoothing
the plane field it has to move 400 revolution. Find the area of the field. If the
labour charge of this work has to pay 50 rupees per square Centimeter then
calculate the total charge to smoothing the plane field.

UHh R BT A 70 AH. TG s o= 110 S 21 fdl fem a1
JHTT B B fT0 S 400 TFHR T sl 2 | S9 HH Bl &% M
B | IfT HE BT AHAA B B oY 50 U Uiy 9 HH). I HRAT g
g A1 A A B BT qot Ed A N |

The lateral surface area of the right circular cone is 352 cm? and its slant height
is 16 cm. calculate the radius of the base of the cone and also find the total area
of the right circular cone.
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[8+8]

(a) A Shopkeeper sold two Radios for Rs. 20,000 each. On one he made a gain of
5% and on the other a loss of 10%. Find his overall gain or loss.

U §HMER Gl AT B 921 59a e b1 [9aqed 20,000 0 2| Uh
AT R A 5% oM B3l AR TR W A 10% & e g3 | 39 Al H
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(b) Find the compound interest on Rs. 10,000 for 1% Years at 10% per annum,
compounded half Yearly.

10,000 SR T 1N TR 1= st H 10% 9T A R W wmafE @ o B
Safd AT BHIE! |AITd fdhar S 2 |

If (Ife)
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B

[8+8]

={1,2,3,4,5,6}
={2,4,5,6,7}
={1,5,6,7,9}

Then find the following.
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(b) (1) Using binomial theorem, expand of
(fgue v & el 9 faRdR &)

2x 3.6
( 3 Zx)

(ii) Find the middle term in the expansion of (x? — E)10
X

(xz—i)loiﬁﬁwﬁﬂwq—dﬁﬁﬁl
[16]

Calculate the Mean, Median and Mode by assumed mean method of the following
data.

Ffcad Areg fafdy gRr Ay, AfeadT vd 9gad Sia o |
Cl 10-25 25-40 40-55 55-70 70-85 85-100

f 2 3 7 6 6 6

[8+8]

(a) Find the area of the triangle whose vertical are (4,4), (3, 16) and (3, -2)

ST &1 &Fhe A1d X Sdih g9 Nl BT Meend (4,4), (3, 16) W (3, -2)
2 |

(b) Define triangle with example. Prove that the sum of all interior angles of the
triangle is 180°

Brgst @1 aReTeT SarereT afed B | Rig B b fodl Bgs & 9l sridRe
BTV BT ARTHA 180° BT 2 |

-- The End --



